SFNSEREE2EERE 4F28H(%) (E5AEESK 2% 1353 3% 13)

%1 HaE 2 % BEEC 8 K4 1.9% % 4 Bk 2 ik BEEC 8 K4y 1.9%
o | HIE | BE 5 4 HAL | H OB mEEs|  (HE ah | B | BEF 5 4 HAL | H OB meEs|  HE
@) 1 T \FATv— 2:45.2 490 346 O 1 1 |~y 7 2:47.2 490 241
O 2 3 [Pz ATxT— 3:04.7 | 470 163 O 2 2 |[FFavT 3:09.6 | 470 195
O 3 5 |[VzAAPA 3:31.7 | 490 145 O 3 6 |~/ FT 3:20.6 | 490 | 324
O 4 2 |7V= 3:32.3 | 470 41 4 3 (AT ansAIy 3:56.2 | 490 122

5 4 |Froaw 4:18.9 | 490 102 k| 4 [AUFARER 470 48
6 6 |EAFIF ¥ 5:08.7 | 470 | 250 k| 5 [Pz AYTTs 490 152
ik 1 (I NTFrER—Y 490 239 k| 7 vmgFEIm 470 183
hik | 8 (UTARIEHT 490 351 Hik |9 |ArvavL T — 470 271
B | 8 | AIbmAvvay 490 81

W2 mk 2 % GEEC 9 KAy 1.9% % 5 Bk 2 i SEEC 9 KAy 1.9%
| A | BE 5 % HAL |E OB wEEs 65 o | HIE | BE b5} % HAL  |E OB wgEs 55
O 1 9 |=A~AAHF 2:44.2 | 470 | 193 (@) 1 9 | FHFTIATY 3:21.9 | 490 | 233
O 2 2 |k bR 3:07.7 | 490 | 303 (@) 2 8 |VartwAr g 3:43.8 | 490 | 356
O 3 4 |FAY 3:14.5 | 490 | 232 O 3 1 |V AFrT T 3:45.7 | 490 | 149
O 4 6 |Y~/Ex 3:30.2 | 470 | 327 4 5 |YzAre— 4:44.7 | 470 | 170

5 3 [P A AV — 3:52.0 | 490 | 377 5 2 [Fyaxy 5:10.9 | 490 | 236
k| 1 [SATV VYT 490 | 347 gk | 3 | TV ERAIR 470 | 265
fik | 5 |LAuy 470 | 358 k| 4 |=T Ao 470 59
fik | 7 | U—ARYF—R 490 | 364 fik |6 [Pl oSu— 490 | 141
fik| 8 |=v= 470 | 332 k| 7 ATV I 470 | 192

%3 ik 2 % AN 8 K4y 1.9% 06 ik 2 % Sk 9 K4y 1.8%
o | HIE | BE 5 E4 BAL | H OB wmaEs| an | HIE | BEF b5} % HAL|H | waEs|  HE
O 1 EEREP4=S 3:04.9 | 470 | 343 @) 1 9 |FAVH 2:41.3 | 490 | 345
O 2 3 |[Frrvtr TR 3:07.2 | 490 | 208 (@) 2 4 |VxAbyH— 3:08.2 | 490 | 162
O 3 5 |[YHNEAIYTY 3:37.4 | 490 | 373 O 3 5 |[THXRTA 3:21.7 | 470 21
O 4 7 RV Na—Va 3:44.6 | 470 | 300 4 2 |\BrRATYRT 4:45.1 | 490 | 275

5 2 |=2U~TA— 4:01.3 | 490 | 336 ik | 1 [Aavvanigzn 490 | 127
6 1 |7=7Y—x~ 4:02.4 | 470 | 252 ik | 3 |[7vsrmyL—= 490 | 255
ik | 4 |[BrEAT=T—) 470 | 284 fik | 6 | ATFA—T 490 46
ik | 6 |[79T—1U— 470 | 261 ik | 7 |TY=rTT 470 22

ik | 8 |HRrTavas— 490 | 270




7Bk 2 5 BEE 8 K4Sy 1.8% % 10 ik 2 57 GHEL 8 K4y 1.8%

HE | HE 5 4 HAL | H R mEEs| (B ah | B | BE 5 4 HAL | HOR|mxEs|  HE
1 2 | TF YAy 3:04.9 | 490 | 310 O 1 (R S I 3:32.6 | 470 | 326
2 6 |7V A 3:38.1 | 490 28 O 2 4 | AV BENYY— 3:35.4 | 470 69
3 8 | A—/S—=AAUF 3:40.3 | 490 | 187 O 3 2 | BIkEFTIa 3:49.4 | 470 80
IR I RS WES & J 490 | 312 4 5 |XHIUHYX 4:18.0 | 470 89
Pk | 3 (¥4 470 88 5 3 |V ATATR 5:20.6 | 470 147
ik | 4 |7 4—2ERTAh 470 | 103 k| 1 | — 490 | 137
fik | 5 |[FHLRY 470 234 k| 8 |TUAY 470 40
Pkl 7 |TvF 470 43 Fik |9 |TV AP — 490 | 256
B | 6 |[akTETogy 490 | 130
8 ik 2 54 RS 9 K4y 1.8% %11 Hk 2 % SR 8 K4y 1.T%
FHE | BE 5 % AL |E OB wgEs| (5SS o | A | BE 5 % HAL | H OB mEEs| fi§E
1 5 |AIeAYITA— 2:52.4 | 490 | 279 (@) 1 B A VELES 2:33.9 | 490 | 262
2 8 |[=3XTrAH—R 3:04.4 | 490 | 235 (@) 2 2 |[ANTRVarvr 3:00.1 | 490 | 129
3 3 [AFbruTY 3:43.5 | 470 | 318 O 3 4 |\ AIEAT S 3:22.0 | 470 | 157
4 4 |RrEAT—T— 3:51.8 | 490 | 278 4 5 |[=wABLAFAY 4:01.0 | 490 | 301
5 T SNy 4:14.3 | 490 | 180 5 7 |RrAT Y= 4:18.9 | 470 | 272
6 9 |ehahTx 4:17.0 | 470 | 246 6 6 |ATFwAEA 4:42.6 | 470 51
k| 1 I N=TT 470 | 243 Bk |3 | AAvA 490 63
ik | 2 | PURLYIRY 470 | 134 ik | 8 |AHTIA—v 470 | 203
ik | 6 |r=FIz VoL 470 | 104
9 ik 2 % S 8 K4y 1.8% %12 Fik 2 % S 8 K4y 1.T%
FHE | HE 5 E4 BAL | H OB wuEs  fE an | B | BE 5 % BAL|H OB meEn|  §E
1 5 |#hTarrF 2:53.5 | 470 | 204 @) 1 L | TARIFHT 3:14.7 | 490 23
2 6 [AUFTLTzL 3:10.4 | 470 47 @) 2 7 |ZURZ L ERAY 3:42.7 | 470 | 114
3 8 |YAATUH 3:14.3 | 490 | 217 3 6 |VxATAk 4:39.7 | 490 | 169
4 PRNIDVE e D 3:36.1 | 490 | 181 ik |2 |=duLR 490 | 304
5 4 | TN 3:36.9 | 470 58 ik | 3 |FAbm—x 470 | 231
6 3 |(AUeVV 3:55.1 470 319 Hik | 4 [P AT AT 470 151
Pk |1 [YFLAx 490 | 376 k| 5 |[YxAI—HY 470 167
Rk 7 | FRY= 470 207 ik | 8 [AxmepaFry 490 190
B | 9 |[HRrEAIz~F 470 | 290




13 HE 2 % BEEC 9 KA 1.T% 2 W% - 3% 8 k4
A | & B 4 SAL | HE OB mEr HE s 5 E4 | maE
1 9 |a—FAAh 2:42.1 | 490 | 178 Y~ DY T AT 470 | 322
2 4 |\ BYTITY 3:06.9 | 490 | 369 AR A 470 60
3 3 | /RR 3:18.4 | 490 | 329 FA—TTF =)L 470 | 219
fiik | 1 |7 INaET 490 | 257 JYAL L E—h 490 112
ik | 2 |[PaAYe— 470 153 PV ESS 470 | 263
fik | 5 |[U—iARL—1 490 365 AAY Y f— 470 315
ik | 6 |\EHTT AT 470 | 202 RFoTF Yot 490 | 224
ik 7 |avvan<iy 490 126 2T~ AT 550 588
ik | 8 [FuRBYER 470 132

14 Bk 2 % GEEC 8 KAy 1.T%

HE | HE 5 AL |E OB wEEs 65

1 4 |V AR — 3:17.6 | 490 | 159

2 3 | Y~YrTaTT 3:40.0 | 470 | 323

3 5 |/FARyE Y a— 4:11.6 | 470 | 106

4 6 |AVETY— 4:17.9 | 470 | 371

5 7 |AINRA 4:37.6 | 490 | 294

ik | 1 | TIvrRA 490 | 260

Hiuk | 2 |(FFEREs 490 | 206

ik | 8 |[TuHTAEpL 470 | 367

15 @i 2 % Sk 8 Koy 1.7%

HIE | HE 5 E4 BAL | H OB wmaEs|

1 3 | ZVRANTA—r 3:42.8 | 470 | 116

2 4 |\ ITT AL~ 3:53.4 | 490 78

3 8 |ZURZILIT—)L 4:24.0 | 490 | 111

ik | 1 [heTutETeR 470 | 228

ik | 2 |rwe= 490 | 330

ik | 5 |YxA/rmER 470 156

ik | 6 [UAARHY— 470 | 366

Pk | 7 |[Y=APAET 470 154




